
TITLE:

REV FILE NAME:DRAWING NUMBER: DRAWN BY: DATE: SCALE:

KLIKsystemsaustraliaUnit 2/2 Southridge St. Eastern Creek
P.O. Box 263 Horsley Park NSW 2175
Ph: 02 9851 3300    Fx:02 9851 3200 pty limited

Step 1: Start at one end. Step 2: Use finger nails to grip
diffuser.

Step 3: Flex inwards and out Step 4: Once started carefully tilt
diffuser out using two hands to

disengage full length.

 Step 1: Engage one edge full
length first.

Step 2: Pivot opposite edge
towards body.

Step 3: Starting at one end clip
the diffuser into body.

Step 4: Work the diffuser in from
one end to the other until fully

fitted.

70E Diffuser removal & replacement

Paul 22/2/05 na70E Diff RemovalA10335-01

Removal

Replacement



Max
Span
3.0m

Within 0.5m
Join or bend

  50kg
   Max. 
Loading

Tool Less
Adjustment

10 Max

Timber Gyprock

29

Important
Using appropriate fasteners to suit the mounting surface is the responsibility of the installer.

Units should be evenly supended to avoid the over-loading of suspension wires.
A maximum loading of 50kg is recommended on a single wire at any one time.

Lug Gripper

43

10

Max Tilt

www.kliksystems.com - info@kliksystems.com.au

Plastic plugMetal plug

 Type of protection: Class 1 Luminaire | Nominal Voltage 230-240V  50/60Hz

72

140

 10337-09-G

70 Elliptical Suspension Wire Instruction

Item
Number

Title

1 Suspension Ceiling Barrel

2 8G x 38mm C/S self-tapping screw

3* Suspension Ceiling Barrel Cap

4 Gripper Wire 1m

5 Gripper Wire Lug

6 70E VF End plate

7 8Gx5/8" Csk 6G Phil Head

8 70E Assembly

1

2

4

5

7

6

8



Important

Choosing an appropriate fixing to suit the mounting surface is the responsibility of the installer.

4
59

9

2

1

3

8

4

9

1

2

Earth strap for
Pivot & rod
(supplied)

Earth Connection
(supplied)

2 2

2

Screws used
to lock pivot
in position

1
1

6
4mm

Use screws
to hold rod
in pivot
when drilling

2

2

Calculating Rod Length Cutting and drilling Rod Assembling Rod & Pivot Installing Rod in Bracket

O4mm

Holes drilled
with Pivot

Pivot used
as drilling
jig for Rod

4mm
Screws must
lock into holes
drilled in rod

45°

10

www.kliksystems.com.au - info@kliksystems.com.au

10

7

Plastic plugMetal plugMount Block Base Timber Gyprock

MaMaMaMaxxxx

SpanSpanSpanSpan

3.3.3.3.0000mmmm

Within 0.5m Join

or bend

38 11

58

7344

O 26 PE Hole

2

Item Part Name

1 M4 x 8mm Pan head

2 M4 Pan head 12mm

3 M4 x 12mm Zinc Grub Screw

4 M4 internal star washer

5 M4 Nut

Item Part Name

6 Ceiling Mounting Bracket

7 Bracket Canopy

8 16mm Cast Ball Pivot Clamp

9 M4 x 10mm Pan Head Screw

10 16mm Suspension Rod

6

Rod to mounting surface assembly

Drill both sides

Maximum Pivot

Hook in slot

10347-02-C

O
/A

 H
ei

gh
t

57

R
od

 L
en

gt
h 

=
O

/A
 H

ei
gh

t -
 1

42
m

m

85

70E - 16mm Suspension Rod Instruction

11

18

Item Part Name

11 70E Assembly

12 16mm Susp groove adaptor

13 M4 x 10mm Hex Head Screw

14 M4 Nylock Nut

15 16mm SuspRod Flared End

Item Part Name

16 16mm SuspRod Adaptor Top

17 16mm SuspRod Adaptor Base

18 M4 x 4mm Grub Screw

Rod to system assembly

1615

14

14

17

12

1313


